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Pl §novan®rokPOREazy pr o
RO skutecnost 2005 2006
Aktiva celkem 3 695 651 3252197
Pohled. za upsany ZK
Dicuhodoby majeiek 2069 784 1990 920
Nehmotny majetek 8 204 8 100
Hmotny,nehm. majetek 2061580 1982 820
Finanéni majetek
Onhéina aktiva 1625 507 1260 777
Zasoby 282 298 316 000
Dlouhodobé pohledavky 512 500
Kratkodobé pohledavky 1154 793 710 000
Finanéni majetek 187 804 234 277
Casové rozlideni 360 500
Pasiva celkem 3 695 651 3252 197
Viasini kapital 2251922 1983 994
Zakladni kapital 1831125 1831125
Kapitalové fondy 135 009 135 009
Fondy ze zisku 25 281 37 210
HV minulych let 21928 248 578
HV béZného Géet.obdobi 238 579 -267 928
Cizi zdroje 1439 974 1263 703
Rezervy 503 238 505 270
Dlouhodobé zavazky 91 469 8 433
Kratkodobé zavazky 845 267 750 000
Bankovni Uvéry
Casové rozlisen| 3755 4 500
rozdil A-P 0 0
zav.z obch.styku 691 191 645 000
zav.k zaméstn. 62 434 60 000
zav.ze soc.zabezp. 12710 12 000
dafiové zav. 67 692 25 000
spl.dan z pr. 0
spl.dlouhod.zéav.
jiné, povolenky 11 240 8 000
celkem kratkodobé zavazky 845 267 750 000
Finanéni toky

skuteénost 2005 2008

opr.pol. 101,30 -75,90
odpisy 289,40 260,60
zasoby -205,00 42,20
pohledavky -301,30 444,80
zavazky -60,50 -95,30
MF -20,00 0,00
rezervy 122,50 13,00
dividendy -360,30 0,00
investice -207,60 -181,70
HV 315,60 -351,00
ostatni 0,20 0,70
spl.dafi z pF. 0,00 -11,00
celkem -325,70 46,40
P na zac.obd. 513,60 187,90
P na konci obd. 187,90 234,30
rozdil -325,70 46,40
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